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Unit 8 Review - Probability

Combinations and Permutafi /
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5. You are ordering a pizza. The three-topping pizza costs $8. If there are 18 toppings to ¢hoG

from, 4 different crusts, and 2 different sauces, how many difterent 3~toppingipizzas can you
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6. A radio station is plaving 10 different songs. If 2 of the songs are going to be played twice, and
one of the songs is geing to be plaved 4 times, how many ways can the station fill 15 song slots?
KTE we alyo need todecide 2 songs Yo repaat Ywice
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7. Triangles are ¢ften labeled by placing a dilierent letter at each vertex. In how many different ways = 360
could a given scalene triangle be labeled using any of the 26 letters of the alphabet? The massive answer

5 would be moltiphed by
2603 ¢ 15 60O | eao,CrazS, no?l?

8. You are picking = hand ¢ 75 cards from a standard deck of(gﬂaying cards. é&-’hat is the probability
that vour hand has 2 10s and 3 Jacks? 72.598400-5cord hands
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. At South High School, 55 students entered an essav contest. From these students. 10 are selected
as finalists. How many diiferent ten-student rankings could be made from the 55 entrants?
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Binomial Distribution

L. Find P(3)ifn =12 and p =.40 (show setup) (\‘9 (‘%)5 ('@OS] . m\

2. Find P(X <7)ifn=20and p=.85 b'\nomcdﬁ(?.o} «96) La) = ‘, 0000000‘45?9\

3. Find P(X=9)ifn=25and p= .35 l-— binomedF (9-5, . 35;5) :

4. FindP(3<X<6)ifn=10andp=.42 binomedf (IO M2, 'S) — \ainomcdpuoi M, 3) 2
5. Find PG <X <6)ifn—10andp- 42 binomedf (0, 42, “’) binomed? (10, 42, )
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If a dark-haired mother and father have a particular combination of genes. cach of (heir babies
have a ¥4 probability of having light bair.

a.
b.

C. o B ; ‘/.
b) PO) = binompdfF (3, q, O) 2 .0150 i
PO) = o6

What is the probability of any one baby having dark hair? 3/4{

li they have 3 habies, calculate P(0). P(1). P(2). and P(3), the probabilities of having 0, 1
2. and 3 dark-haired babic:

Plot the graph of this probability distribution. D-.es this distribution have a special name?

-

P(2)=.u4zl9 20 + I_l
F(?’): ik o1 2 3 | "

Statistics show that about 8% of all males are ¢ mm-n}md Supposed 20 males are sclected at
random,

a.

b
&
d

Find the probability that 2 of the males are color-blind. \)monr\pdl» (7-0 09 2') el
Find the probabilit: that more than 5 of the males are color-blind. .00 38

Find the probability that less than 3 of the males are color-blind. ,"1$179

'ind the probability that between 4 and 7 (inclusive) of the males are color-blind. , 0106

Large tactor-trailer trucks usually have 18 tires. Suppose the probability that anv one tire will
blow out on a given cross-country trip s 0.03.
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95 =11+ (1-p)

Find the probability that none of the 18 tires blow out. ( ) <45 790

Find the probability that 1 of the tires blows out. » 3?.!’7

[ind that probability that more than 2 of the tires blow out, .qu(g ;

If a trucker wants to have a 93% probability of making the wip without a blowout, w aat
must be ite reliability of c‘auh tire?

Plo)=.95
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Blgs = |-p

99715 = |-P



